Examplel: An object is thrown from the ground with initial velocity of 80m/s [40° above horizontall. Find its maximum
eight and its range.
‘%“'

Given: AT, = i;*;} e L7 Q;{;}a€ i‘i@ﬁww#v( ~
0{5 AR e A

i P

Diagram:

Vector diagram of v;: Vector components of v
“ S
v A ¢ SN - b
4; gﬁ\\\s’ f‘\ {;_- . i‘:’) & " L{-’J gli ‘5:}
: R\ co Tih W ~
T WV -
f;é # .

-

A ST J g =0 sin Y0

g i v 4\
‘ Y YA }g L '
Time to reach maximum height: ”‘} 2 >y

4L My 0-8.923p

il s e 2 B s 2 59 e
P)Mi‘m 4 er

» o
o foret

S
Lo

Aaximum height:

/\fs - N {\/1 {j‘“§ 93D b= |
1 ;T VLS50 _ :
iy T LA ACx & [ IO NCEQN o7
s ) e 2(- 92) ~. AL

Time in the air;

‘{Obi.v o a]\'ﬂ)x«%x = JQ(S‘"?H,J }ﬂ l.f}%ii)ig LS

Range: ' -

d;( = WA “éc‘{,ﬁf

-/6z2<j3,%, )(/zsz%‘f?) SR E !O?m

R

Example 2: In your notebook solve the above problem with a projectile launched 200 m above the ground level. Assume
that the projectile lands on the ground. Compare your results with ex. 1.
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